Pedestal Distribution (average fADC count between 8 - 60 ns)
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Amplitude Distribution (no pedestal subtraction)
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Integral Distribution (no pedestal subtraction)
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Amplitude Distribution (with pedestal subtraction)
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Integral Distribution (with pedestal subtraction)

|
o

1A

hintSubO
Entries 300000
Mean 4871
Std Dev 605.3
Underflow 0)
Overflow 0)
X2 | ndf 512.6 / 444
Prob 0.01335
Constant 792.7 £2.1
Mean 4841+ 1.6

Sigma 601.4+21

— sum64
—— dynode
quadl
—— quad2
guad3
—— quad4
guadsum

Pl IS e e e LT

o) 2000 4000 6000 8000 10000 12000 14000

Integral [fADC]




INs T

5000
4500
4000
3500
3000
2500
2000

1500

1OQ%

Amplitude (pedestal subtracted)
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Integral (pedestal subtracted)
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